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Passage:
fAder: A faT M Werier Y weHR YB MY WAl & Had A I dret fadent BT T Hifore-
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@R # smard 3R fafa Q1 € afffdaa &1 R ik arfvsa B ayfe & fig At S 35T TERvT AT 9gd Naedd 21 3 T § U T aIfeTl 3t Ja o1 330G Hiake gieel § qan
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Passage:
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Passage:
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PSRQ

Q.No: 10

—
=]

A SQRP
B SPRQ
C PSQR

Q.No: 11 Select the correctly spelt word.

c Perseverance A v v

D Peresevariance

Q.No: 12

A CDAB
B CBDA

D ACDB



B QSPR

D PQRS

There are three sizes of a circular hooplaringin the school sports store. Circumference of the smaller ﬁ\ﬁrﬂ]’éﬂﬁk#’c‘hﬂ'm & dc
Q.N  oneis 13.2 units and that of the larger one is 17.6 units. Also the circumference of middle one is sum e -
o:  ofhalf the circumference of smaller and that of larger ring. Find the sum of radii of all the rings. & 17.65FE R FAET AT T
14 (Take m =22/7) argsr fer 1 Brsansit & 2 A

A 8.95 51§

B  7.35 units 7.35 551§

6.25 units
D  4.30 units 4.30 351§

In the q

Q.No: 13

PQRS
B SPRQ
C SQRP

D PQSR



A rectangle is cut into 41 pieces of which 15 are small rectangles, 10 are squares and 16 are triangles. Given that area of 1 square = 1/2 * area of one small F
rectangle = 4 * area of one triangle. If side of square is 2.5cm, then area of the big rectangle is

Q.No: Th
15

B 250 sqcm

D 300 sqcm 300



Q.No: pgr + xyz is what type of polynomial? par +
16 Xyz

B Binomial Ik

D Trimonial

Zeroes of a polynomial can be expressed graphically. Number of zeroes of polynomial is equal to number of points where the graph of polynomial is:

e
T
agqaén‘
LIS
Eokecy
oToche]
Q.No: Eant
17 cued

foear

E

@

IR

eI @l

AT

Q.No:

19
48 [

g13¢ Rg
3R
18 @t

Q.No: geaAt o
20 a1l

C 38 minutes

D 57 minutes



The area of a trapezium is T times of the area of a circle whose radius is 140 cm. The height of the trapezium is 154 cm and sum of parallel sides of the

trapezium is 320 cm, then what is the value of T? ;
i oF
kL
Q.No: 154
21 Rz
kil
HHCT
e
A _ |
B 0.5 0.5
c 0.4 A 0.4
0.2
Q.No Choose the correct pair of numbers, whose sum is divisible by 13.
122
FRTHA 12
¥ foanrsa
755,353 755,353
3456,49
2
2838, 3748 2838,
3748




Denis has 20789 unread mails from which 7652 are meant to be deleted while rest of them are important. If he finds that out of 7652 mails, 2340 mails are Maa &

actually important, then find the number of important mails. e

20789
3fea
(unread)
AT g

Q.No: 76 2340

23

A

A qrEaa

12407 mails 12407

C

D

Q.No:

25

Q.No:
27

16407 mails 16407
AT
13137 mails 13137

Some packages were given to two delivery agents in the ratio 9:14. When 6 packages were delivered by each of them, the respective ratio became 7:12. Find g 3%
3

Eerey
A 232 3R 1
If sum of 23/2 and 18/3is 'A". difference of 129/15 and 48/5 is 'B' and product of 15/2 and 20/3 is 'C". & drea+2c
then what is the value of 6A +2C - B1%0? e




Bl

THA
Q.N If the discriminant of a quadratic polynomial, D = 0, then the polynomial has: R vw Fegaa sguE A IR CERETY
o: (discriminant), D =
28

B  no roots FE A TE
C




The sum of the digits of a two-digit number is 4 more than the excess of the units digit over the ten’s digit. If the product of the digits is 16, find the number. g} 3/t

EaRg
T &
Q.No: 3T T
30
B

two real and unequal roots aamgﬂ-;m;@-
. n 3R n2 &7 IUTAR 64 § 3R Sa
Q N The product of n and n2is643nd t.he same result is obtained when {
o waTe afome ured gar 1 at -

(4n)*is divided by m. Then \/—(4_) ls equal to




I, 11, 111 3R
IV # & 9%

& et g &Y

I) 0.248
[,
0.00124
ey,
0.0248

II) 0.124
T,
0.00124
Q.No:
31 ey,
1247

III) 0.124
J,
0.0124
ica
0.00124

V) 0.124
a,
0.000124
ey,
0.0248
A II and III both form equilateral triangles ’ II 3 111

C IIT and IV both form scalene triangles 111 3k IV
D I form a scalene triangle I ﬁ'!'lﬂTg
YT T §

ofrer & a1 e

3Telsyd
SLOTS AVAILABLE .
3846500 g 3T
4986000 15-44 E
45-100 S
Q.No:
32 Rrg ar &t 3mg |

HAT g 100 a9
§azfmf-::-m

A 4019431 4019431
B 3547540 3547540

D 5014741 5014741



The length of the side of cube was increased by 200%, 100% and 100% to obtain length, breadth and height of a cuboid. Then volume of cuboid becomes: AT

Q.No:
33

A 2 times

D 4 times

49 g

Q.No

3

z(a+y)
2c



There is a APQR in which 2P + 2Q = 145° and £R +22Q = 180°. What relation
could satisfy the given conditions?

O.No: TF APQR & T

35 T erclt T g
I: PR = PQ
II: PR > PQ
III: PR < PQ
IV: PR = QR

A I, III and IV I, I11 3R IV

B II and IV II 3R IV

D Only II Fae I1

D z(a+c) z{a+c)
2c 2c

A sum of Rs.312 was divided among 100 boys and girls in such a way that each boy gets Rs. 3.60 and each girl Rs.2.40. The number of girls is? 100

Q.No:
36 sq



65 65

The radius of the base and height of a cylinder is 14 cm and 5 cm respectively. What will be the curved surface area of the cylinder? TF ST &

Q.No:

37 s Ak

?a%mrz
14 ¥l 3R

A 650 cm? 650 T2

€ 2345em? 2345 2

b 450 cm? 450 @2
QNo: _ Fefetfiaa =
38 Which of the following is the numerical coefficient of -72xy?

39 The coefficient of x in 10x%+15x-11 is: 10x2+15x-11 H x BT T’W%



6 years ago, mother’s age was 18 years more than the son’s age. If the sum of their present ages is 30, what was the age of the mother 6 years back?

Q.No:

A 36 years

6
TR
R
AT
&
g
9 H
3
¥ 18
TR
TBrers
o
36
quy

D 32 years 32

A




Choose the correct number that lie between both the intervals given: 39 e

AT H
T
6/5 to 19/3 and -25/6 to 18/7. af>
AT A
STl
Q.No: »d
41
6/5¥
19/3
3 -
25/6
o
18/7
A 55/9
B -29/7 -29/7
D 26/5 26/5
Q.No: Tx+2y:
42 If 7x + 2y =10 and 2x + 5 =?,thenﬂndxandy. o Tx+2y
A1 113
2' 2 20 2

B 35° 35°
c 25° 25°
20° 200




Q.No A polynomial of degree n has:
145

(zeroes

)@arg

C Only one zeroes FTd TH

YraH

(zeroes
)dary
FH A FH
n EIF

(zeroes

yeard

D At least n zeroes

Q.No Choose the correct option, If A = 2P, B = 6P and C = 5P. &
146
Cageer
HfoTw
, Rg A
=2P B

c (AxB)-(CxA)=(BxC)-2A2 (A x

D (AxB)+(CxA)=(BxC)+2A2 (A x



1o RICEICIC
If volume of a spherical ball is 38808 cubic unit. then it's surface area is T
approximately equal to __ ?(Take n =22/7) (=

_ B

9261 sq. Units 9261 TN FFE

1848 sq. Units 1848 TR 31§

Q.No: Zeroes of p(x) = x2- 125 are:
52
p(x) = x%- 12°

A 433 33

B None of the given options foge e
LEED ]
el

C
+7\V3
e A
|x]| @1
A
d AT
AT

Q.No Find the approximate value of |x| in terms of n: N

153 g.25x +6.02n + (0.34n - 2.32x) = 0.62n - 6.23x - {4.20x + 2.56n - (5.87x - 9.23n)}
0.25x +
6.02n +
(0.34n -
2.32x) =
0.62n -
6.2

A 3n/2

B 7n

D 7n/3 7n/3



The circumference of a circle and the perimeter of a rectangle is equal. The sides of the rectangle are 35 cm and 42 cm. What is the area of the circle (in qa;zl—,rﬁ
square cm)?

fafey 3k
Q.No: Th A
54 Ealrein]
Ercrddle
Imgq
A 676.8 676.8

Employee

Q.No:
55

II. B & aAmfoas
111, A & Ffoae

1, 11 3R III & 3
AT &

A Only I Faa I

€  onym Faer IT

D  OnlyIiI | N Faw 11
Q.No: . N ﬁﬂﬁﬂgﬂﬁ
56 The zeroes of the quadratic polynomial x2+26x + 118 are:

A one positive and one negative TF UATHF 3T
B Al gATeHE

D both equal XY FET

&



'N' small cubes are formed after melting a large hollow cuboid of dimension 18 cm * 15 cm * 12 cm with thickness 3 cm. If side of each small cube is 1.5 cm, 3 3=
then find the value of 'N'. @ 18

m*
15 ¥
* 12
@ &

Q.No Ejpie
1 57 qe UH

B 1012 1012
759 759
o g 7 768

768



Q.No: The ratio of measure of an angle of a regular octagon to the measure of its exterior angle is:
58




A 20 years old person weighs 42Kg and a 50 years old person weighs 64Kg. If weight of 40 years old person is the difference between the weight of 50 years 20 RAwS fgea
old person and thrice the weight of 20 years old person, then the difference between the weight of 20 years old and that of 40 years old will be grams. - 42
e 3R 50
e g &1

20 fawr
Q.No:

59 SR & T
& et I
T & AR E,

Q.No: AT
61 erarfaer 7

The diagonal of a rectangular field is 15 m and its area is 108 m2. What is the cost of fencing the e foaw
field at rupees 50.50 per m?

sides. Each side of
f grassing the

A square garden has two roads passing through its middle, both parallel to it
the square is 60 m in length and the width of the roads is 10 m. What is the co
garden at the rate of Rs.30 per m2?

Teh g F9f

Q.No:
63

60000 T
500 T

D 75000 ¥

‘ Rs. 75000
B 4 4
C 2 2

Length and breadth of a basketball court are 50m and 20m respectively. If the same court undergoes expansion of 10 m in both length and breadth every 4 oadr

years, then after 12 years, the area of court will be sg.m?

Q.No Ersaoic
64 qﬂaﬁ
TS 3R




A 50
#Hrex @

garg, ar
12 R &
ae | ey
FT ST

18 x 102

B 28x10° 28 x 10?

% 10?
b 72x10 72 % 102

Q.No: Which of the following is a constant polynomial? PEREa
65 # Il ar

916 7 T JHT

Q.No: Riceint
69 IR IR

What is the zeros of the polynomial p(y) = cy+d? agUa p(y) =

433/1
729:153

280:120
120:153

729:280




D 280:153 :: 729:120 280:153

729:120

a3t
an _ _ 3x% + 10x + 8 ¥ G UFE
20 One of the linear factors of 3x? + 10x + 8 is:
A (x-3) (x-3)

B _ y

€ " le e

(x-2) (x-2)
. ¥ 4 T
ofe fgard SgUG 2 + 11x + kB

If one root of the quadratic polynomial x? + 11x + k is then the value of k is:




Construct a number whose digits at thousandth, hundredth, tens and ones place are 2n ,n, (n-1) and (n-2) respectively. Here, n is an even number and
number at ones place is three less than the second smallest odd prime number.

Q.No: TEE
72 Elice

ok

ekl

IR
PhAAS R
FITESAT|

30%.

Solve for the value of P:

Q.No:
76 AJ T ar

w R
Sge 8 87

A Y121 V121

¢ 92 92

Data inadequate




The difference between the present ages of Arun and Deepak is 14 years. Seven years ago the ratio of their ages was 5 : 7 respectively. Whatis 3ot
Deepak'’s present age?

Klice
EeED
&
Epeic

Q.No

2 77 EiL:
IR
14
TR
g3

56 years.

D 42 years.

4843



Diagonals of a parallelogram ABCD are 16 m and 12 m respectively. If one side is 10 m, then find the area of parallelogram ABCD. TF

Q.No:

C 112 sqm 112

EE
33’

D 24 sqm

|



Weight of a football player before lockdown was 67Kg. His weight increased by 15Kg during lockdown and then he lost one fourth of his total weight by exercise gfsarssr
What is his final weight?

Q.No: i
79

A 24 Kg 600g 24

C 276 276

Q.No:

83 The zeroes of the quadratic polynomial x? + 9x + 18 are: %ﬂﬁﬁgﬂﬁ 3
A -3,6 -3,6

B -4, -5




QN The difference between the areas of two squares drawn on two-line segments of different lengths is faftr dieE & & WErEsi )R
g; 40 cm?. What is the length of the greater line segment if one is longer than the other by 2 cm? It ofie dar § T 9 @I

B 9cm 9 a#t

D 6cm 6 aHY

Q.N How many pair(s) of x and y satisfy the equations 4x + 6y = 16 and 6x + 9y = 24? x ARy a;fm;}zl—m 4x + 6y = 1¢

o: FUT6X + 9y = 2




Q.No: What can be added to the sum of 4660, 4046, 6640, 6046 and 6404 to get 318027 31802
86 9red

A 4406 + 0010 4406

C 6040 - 1440 6040

WE F 4R
TH AT 5
T3 20 S
R dFeT

afEafoEd 7
HleT T FUT TT

&

L 121
334 3R 298 &1

AaThel 1834 IS

1I. Er)
1366 H ¥ 912
3R 445 @1
TR T T
STIIL 339 3R
185 T ANTH 9
3R 412 & TN
q

Faa II

Faa I Ir
wsft I, 11 3R 1T

ax Yy
12by

D -5ax - 12by -5ax -
12by



3
a
1
Q.N How many pairs of x and y satisfy the equations 6x + 5y = 16 and 8x + 7y = 22? x 3Ry a;fm;}zi—m 6x + 5y = 16 94

o:

. 8x + 7y =2
91

A 3

Q.N ) )
: . N afg x2+ px + 12 = (x+3)(x+4)

o Ifx? + px + 12 = (x+3)(x-+4) for all p, then find the value of p+1.

A 6 6




Q.No: If the median of the odd numbers lying between 4 and 29 is m. then (m”— m)/3 is equal to Ifg 4 #2903
93

Q.No: Ratio of volumes of two cones is 3: 2 and ratio of radii of their bases is 1: 3. Find the ratio of their heights. ar Qi?

94 Jra
Idd
Cal
gt
3:2%
kil
ECed
JTERY
#r

Q.No: 3R g
97 FF &

34 3.
&

(7]
(7]

D 4 4
788934754

Q.No: # 3 @

96 kicos <
AT

A 14 14

B

13

15




Q.N The number of polynomials having zeroes as -2 and 5 is: 23iRs5FETH Qﬂﬂ-ﬂ'mﬁ@iﬁ
3:8 e g
A 3 3

C 1 1

i
©  Simplify: (2)+ (2 + m‘;%) (2)+ (2 - ﬁj%j) e IS

QN




Q.No: If the sum of the edges of a cube is 60 cm, then what will be the volume (in cubic cm) of the cube? uF "
100 *

FT AT
60 @
gares

(ge
A 126 126

C 56 56

D 264 264

Q.No: If the sum of the edges of a cube is 48 cm, then what will be the volume (in cubic cm) of the cube? T "
101 &

ol
48 TN
garaa
Eal
I
(get
Neerav, Vijay and Mukesh went for shopping in a nearby mall. #Na, Paer 3k ;la;qr fodehe & Teh Aol & ARG et 31T A ey, &7 3R Ve & 7Y & FIR &1

Amount paid by Mukesh is less than Vijay but greater
than Neerav

A thread is tied around a cylindrical vessel in five rounds such th
of the thread meet. Considering the diameter of cylinder to be 4c;
is___ mm.

B Mukesh

Amount paid by Vijay and mukesh together is less than

D Neerav w1 Faer 3R 77F o GART AT Y 7w dfRa F FH
Q.No Which of the following is an example of the quadratic polynomial? EfET
1 104 HE T

T 3ETE0T 87

A x+4x3%-9 x+4x3-9



Five years ago the age of father was 5 times the age of his son.

Presently the age of father is 3 times the age of his son. Find the present age of son.

5
Q.No: &
105

C None of the given options

.3x2+x-1

awedt # &




Find the difference between the sum of 2 exterior angles and the sum of 3 interior angles of a regular hexagon and choose the correct option. FH

Q.No:
106 & A

A Obtained angle is Right angle urea

Nh#ainad anala ic Nhtiica anala

Find the range of speed of bike (in km/s), if a person rides it at speeds given below: Eﬁ—
S
feaed
0.34, 0.76, 2.48, 3.45, 0.19, 4.43, 2.35, 2.69 o
& g
R ﬁ?
SIgeh
R
TeATAT
T,
Q.No: g
108 Exchl
F

C None of the given option T T

fraswedt
#AaFS
e

BIEITH




A wire is bent in the form of a square and encloses an area of 576 sq.cm. What will be the enclosed area when the same wire is bent into the form of a circle? & ar &I &

T F T H
Q.No: T arar g S
110 576 FI AT
TeTEEr Yol
T gram?

B

125.56 cm?
€ 733.09 cm? 733.09 cm?
D 510.56 cm? 510.56 cm?

: Q3RR & U
Q:No: The sum of P and Q. whmmbuactedﬁompmdlctonandRguvaax’—(a+§,)x2—7x+a+l If RFAT: 6x2— 3
112 P. Qand R is equal to 6x? — 3x. 2x + 3 and x2— 4x + 2 respectively. then value '

A 5
B 3

a7
A JENERE]]
Perfect Number 3.141592 = TI5/¢
Complex Numb 496 IT"[W496%
Cyclic Number 142431 m iﬁ*
Q.N Irrational Number 142857 = W[ 1388
0:
111
A A-II, B-III, C-I, D-IV A-II, B-III, C-I, D-IV

C  A-III, B-II, C-1V, D-I A-III, B-II, C-1V, D-I
D  A-II, B-III, C-1V, D-I A-1I, B-III, C-1V, D-I



Q.No: Find the number which when multiplied by 13 is increased by 180 : GRS
113

Q.No: The relationship between Mathematics in the Society is all the following except AT a

117 b1
C Mathematics helps society to bal e and counterbal e the various social forces. g
AT

If a and x are real numbers satisfying a*~! = a?** !, find x (a>1)

Q.No: The ratio of area of two circles are in the ratio 36 : 49, then what is the ratio of their diameters? aTﬂ'a
115 ERI
Ea)

PQRS U TR
PQRS is a cyclic Quadrilateral. two tangent from point A is drawn at pont P and R. If ZPAR= ar 2PSR : 2PQ]
88°, Find 2PSR: 2PQR.

D 22:23 22:23

T
or



.No: The ratio of height and radius of a cylinder is 3:2. If the volume of the cylinder is 120007, then @ I I
19 wht s thieradigsof the eylinde? FE

A _l.m

C 30 cm 30 ¥
D 20 cm 20 aH
A cylindrical treasure box has been closed with a hemispherical cap at the top. If radius of the base of treasure box is 0.3 m and height of the cylinder is 1m, = EGGIEIE
then the total volume of the box is sl a2
Q.No: R TH TR
120 adr @ 98 712 Rr
By sfeg 3
IR #r T
0.018 tm?
A 0.018 = #Hrew:

0.801 7 He?

0.810 7 #Hrex3
0.108 T m3

‘ 0.108  #Hrex3
Sum of which of the two fractions is maximum? ar et 7 @ gt IeTha

B BandD B 3k D
C AandC A3RC
D CandD v c 3k D



A cab charges Rs.25 for first kilometer and Rs.8 each for every subsequent kilometer. For a distance of x km, a amount of Rs. y is paid. The linear wx & g
equation for this information is:

C y=5x+9 y =5x +
9
D y=5x+15 y =5x +

Mohan gets 3 marks for each correct sum and loses 2 marks for each wrong sum. He attempts 30 sum and obtains 40 marks. The number of
sum solved correctly is:

Q.No:
122

A _
B 20 20
D 25 25

31gri34r9lisg gy

&

Q.No: 123 Choose the correct option for A XYZ and A MNP.



Q.No: EIE
127 3:2&F

q gEh
The length and breadth of a rectangular field is in the ratio of 3:2. If the area of the field is 1350 m2, T3 T

then the cost of fencing it at Rs. 30/m will be: & wmr

5240

B Rs. 4000 4000

9T
C Rs. 4500 4500

9T

AXYZ IHRAMNP & foiv @ér fasweg &1 =

A

If YZ = NP. ZX=PM and XY=MN then AYZX = AMPN A ¥z=NP. ZX =PM R XY = MN & L2

c If ZX = PM. YX=NM and YZ=NP then AZXY & APMN afg zX=pPM YX=NMIR vz=nNpE &
- -
b afe MN =XY NP=YZ 3R PM=ZX{ &
If MN = XY. NP=YZ and PM=ZX then AXZY 2 ANPM
Q.No: If the discriminant of a quadratic polynomial, D < 0, then the polynomial has: g v g
125 T -

(discriminant),

126 o 3R

B -4 -4

C 5 5

D 6 6

Q.No: The side of a square is increased by 13.6% then it’s area is increased by : T @R

128 & oo A
13.6%



A

D

Q.No: A guadratic polynomial, whose zeroes are -3 and 8, is:

129
A

A g, &

28.54%

29.04%

29.84%

x2+5x+24

Q.No
1124

-6

(z “Ag) =%t

Weight of a bag having some items in it is 70Kg. If the bag owner bought some rice for a total of Rs. 300 at Rs. 60/Kg and the bag also has some dairy
products weighing 23Kg worth Rs. 500 and a few more items in it, then find the weight of bag unoccupied by dairy products and rice.



¥z
@ ¥

¥

1723474

3

e

| _

C 60 kg 60

e

The ratio between the present ages of Ram and Alok is 6:7. If Alok is 4 years old than Ram, what will be the ratio of the ages of Ram and Alok after 4 years? g7 3ik

Kicicy
$r

Q.No 3 H
1130

A 5:8
B _



Q.No: If x = 2/9, y = 3/4, z = 4/n and 1/ (3xz + y - 2zy) = 12, then find the value of n.

132

Conversion disorder

Specific phobia

16 #Hex

6.45 g2




Q.No: Which of the following is not true about Stanford-Binet Intelligence Scale? AfEATEd
136 # @ P

A Its administration involves four stages. THE TUTHT

C The test developed by Binet and Simon for the children. o

Q.No: Which of the following is a prosocial behaviour? >
135

C Cheating

i

D Judgement



Q.No: Emile by Jean Jacques Rousseau is also known as - ST S v

137 EanT e &
FETH
A Development of childhood 9T FT

D Charter of childhood

reasoning, quantitative reasoning, and short-term memory. TR F{Wdl
ofr
£
3
El



Persons high on which of the following aspects integrate different experiences in an original way to make new discoveries and inventions? afEafag

dAufoww

9Eo] W 3T
Q.No: AT @
140 arel @

Q.No:
141 et W

FAW OWEF A

II 3T 111
gt
Fae 111

Faa II

Gl
2.zt

A Only 2 Faa 1l
B Only 1 Faa 1
D Neither 1 nor 2 aar1 ke

&2



Q.No Community environment is related to, amETTE
1 142

A Climate oAy

C Land oA

D Water Licis

Q.No nfEAfoEa &

1143 & o Fwrgor
FhreT &

A Solving questions HAEAT Y
s

B Asking questions g ISl

Q.No Who was the first Governor of Madhya Pradesh? T G F

1 144 TYH Tl
HieT A?

A Kailash Joshi 3 amer seft

C B. P. Sitaramayya .
) st
D P. Ravishankar shukla ot R



Q.No: What does CRC stand for in computer parlance? *Wm
145 # CRC &7 312}

1 8?

Cyclic
Redundancy
Cycle

C Circle Redundant Circle Circle
Redundant
Circle

Q.No: When does Anti-Tobacco Day celebrated? airlﬂj

146 Foaed
ogaw
Fe

F13

Find the related word from the given alternatives. e
e Erec i
fraered!,

Pen : Write & BT HH

qIH

s T
TIT
I3

Nib : Pencil
C Car : Sitting N :
Yo
D Scholar : Book Poaeam
: Q&S



Q.No:
150

How many smaller pieces are obtained by making two cuts in X plane and three cuts in a perpendicular plane Y on the same cube?

T g
Hel W
X aef
Far




